Instrukcja montazu gmoli dla / Crash bars installation instruction for

KTM 1290 Super Adventure

W sktad zestawu wchodzi:

1. Orurowanie lewe.

2. Orurowanie prawe.

3. Szpilka M12x343 mm z nakretkami i podktadkami.

4. 2 obejmy typu U z podktadkami i naketkatmi.

5. Sruba imbusowa M10x60 mm z tulejg dystansowa 21 mm
(lewa).

6. Sruba imbusowa M10x80 mm z tulejg dystansowa 30 mm
(prawa).

7. 2 gumowo-stalowe elementy amortyzujgce z nakretkami.
8. 2 uchwyty ptaskie.

9. 2 Sruby M6x15 mm z podkfadkami i nakretkami.

10. Sruba M8x25 mm z podktadkami i nakretka.

11. Wsporniki baku lewy.

12. Wsporniki baku prawy.

M=

www.heed.com.pl

Orurowanie powinno by¢ zaktadane tylko przez osobe wykwalifikowang. Nalezy zwrdci¢ szczegdlng uwage
na wigzki elektryczne, przewody hamulcowe oraz przewody gumowe chtodzenia silnika tak, aby nie byty
przycisniete lub nie tarty podczas eksploatacji o gmole z powodu Zle przeprowadzonego montazu
orurowania.

Catos¢ orurowania zatozy¢ swobodnie dopiero na koncu skreci¢ docelowo.

1. Zdemontowac fabryczny gmol.

2. Wsunga¢ w pusty otwor technologiczny w ramie motocykla szpilke M12x343 mm (Rys. 1 pkt. 3).

3. Wykrecic¢ 2 oryginalne sruby M5 z owiewek pod lampg motocykla (Rys. 6 pkt. 7).

4. W miejscu wykreconych w kroku 3 $rub M5 wkreci¢ w owiewki amortyzatory gumowe (Rys. 7 pkt. 7).
Amortyzatory nalezy wkrecié rekg do momentu, kiedy poczujemy opdr. Nie nalezy tu uzywaé zadnych
narzedzi. Dtuzszy gwint amortyzatora nalezy wkreci¢ w owiewke.

5. Zatozy¢ lewe orurowanie (Rys. 2 i 5 pkt. 1) na motocykl:

- w tylnej czesci zatozy¢ na zamontowang uprzednio szpilke i przykrecic¢ nakretka (Rys. 2 i 5 pkt. 3),

- w przedniej dolnej czesci przykreci¢ orurowanie srubg M10x60 mm pamietajgc o umieszczeniu na srubie
miedzy orurowaniem a motocyklem tulejke dystansowg 21 mm z zestawu (Rys. 2 pkt. 5), Sruby nie
dokrecac, poniewaz bedzie jeszcze wykrecana w celu zamontowania wspornika baku,

- w Srodkowej czesci zamocowac orurowanie do ramy motocykla za pomocg obejmy typu U (Rys. 5 pkt. 4).

6. Zatozy¢ prawe orurowanie (pkt. 2 na rysunkach) na motocykl analogicznie do lewej strony, ale w
przedniej dolnej czesci przykreci¢ orurowanie srubg M10x80 mm z tulejg dystansowg 30 mm z zestawu .

7. Potgczyc¢ lewq (Rys. 6 i 7 pkt. 1) i prawg czes$¢ orurowania (Rys. 6 i 7 pkt. 2) za pomocg Sruby M8x25 mm z
zestawu (Rys. 6 i 7 pkt. 10).

8. Potgczyc lewe i prawe orurowanie (Rys. 8 pkt. 1i2) w przedniej gérnej czesci z zainstalowanymi
amortyzatorami gumowymi (Rys. 7 pkt. 7) za pomocg 2 uchwytéw ptaskich (Rys. 7, 8 i 9 pkt. 8).
Pofaczenie nalezy zrealizowac w sposob pokazany na Rys. 9:

- do amortyzatora gumowego przykrecamy uchwyt nakretka,

- z orurowaniem uchwyty tgczymy srubami M6x15 mm z podktadkami i nakretkami (Rys. 7, 8 i 9 pkt. 9).

9. Zdemontowac z oryginalnego orurowania gumowe ostony trzymajgce wypust baku (Rys. 3 pkt. 13).

10. Przykreci¢ zdemontowane w kroku 9 gumowe ostony (Rys. 4 i 5 pkt. 13) do wspornikéw baku z zestawu
(Rys. 415 pkt. 11 12).

11. Wykreci¢ ponownie $ruby trzymajgce zainstalowane orurowanie w przedniej czesci (z prawej strony
M10x80 mm Rys. 5 pkt. 5, z lewej M10x60 mm Rys. 4 pkt. 6) i zamontowac¢ na nich wsporniki baku
umieszczajgc wypusty baku (Rys. 1 pkt. 14) w gumowych kielichach zdemontowanym z oryginalnego
orurowania (Rys. 4 i 5 pkt. 13).

12. Dokre¢ wszystkie sSruby mocujace gmole.




Instrukcja montazu gmoli dla / Crash bars installation instruction for

Piping should be installed only by a qualified person.

Pay particular attention to the electric beams, brake hoses and rubber hoses for engine cooling, so
KTM 1 290 su er Adventure that they are not pinched or they doesn't chafe during operation due to wrong installation of
piping.

During installation it is recommended to set up piping freely.

1. Remove factory crash bars.

2. Install in empty technological hole in the motorcycle frame long bolt M12x343 mm (Fig. 1 pt. 3).
The set includes (as shown on pictures): 3. Remove 2 original M5 screws from the fairing under the headlight (Fig. 6 pt. 7).
1. Left piping. 4. In place of the removed in step 3 screws screw rubber shock absorbers (Fig. 7 pt. 7). Absorbers
2. Right piping. should be installed only by hand. Longer thread screw into the fairing until you feel resistance.
3. Long bolt M12x343 mm with washers and nuts. 5. Install left part of the piping (Fig. 2 and 5 pt. 1) on the motorcycle:

4.2 U clamps z with washers and nuts. - in the rear part place it on previously installed long bolt and screw it by a nut (Fig. 2 and 5 pt. 3),
5. Socket head bolt M10x60 mm with spacer sleeve 21 mm - in the front part screw the piping by M10x60 mm bolt and place on the bolt between piping and
(left). the motorcycle 21 mm spacer sleeve from the set (Fig. 2 pt. 5), don't tighten the bolt, because

6. Socket head bolt M10x80 mm with spacer sleeve 30 mm later it should be removed to install tank bracket,
(right). - in the middle part fix the piping to the motorcycle's frame using U clamp from the set
7. 2 rubber shock absorbers with nuts. (Fig. 5 pt. 4).
8. 2 flat brackets. 6. Repeat step 5 on the other side of the motorcycle to install right part of the piping. In the front
9. 2 bolts M6x15 mm with washers and nuts. part use M10x80 mm bolt with 21 mm spacer sleeve from the set (instead of M10x60 mm bolt
10. Socket head bolt M8x25 mm with washers and nuts. with 21 mm spacer sleeve).
11. Tank bracket left. 7. Connect left (Fig. 6 and 7 pt. 1) and right part of the piping (Fig. 6 and 7 pt. 2) using M8x25 mm
QTank bracket right. / bolt from the set (Fig. 6 and 7 pt. 10).
8. Connect front upper part of the left and right piping (Fig. 8 pt. 1 and 2) with the rubber shock

absorbers (Fig. 7 pt. 7) using 2 flat brackets (Fig. 7, 8 and 9 pt. 8).

Connection should be done on the way showed on figure 9:

- bracket should be fixed to the rubber shock absorber by the nut,

- with piping fix brackets by M6x15 mm bolts with washers and nuts (Fig. 7, 8 and 9 pt. 9).

9. Uninstall from factory crash bars rubber covers holding protruding part of the tank
(Fig. 3 pt. 13).

10. Screw uninstalled in step 9 rubber covers (Fig. 4 and 5 pt. 13) to the tank brackets from the set
(Fig. 4 and 5 pt. 11 and 12).

11. Remove bolts holding crash bars in front part (on the right side M10x80 mm Fig. 5 pt. 5, on the
left side M10x60 mm Fig. 4 pt. 6) and install on them tank brackets, placing protruding part of
the tank (Fig. 1 pt. 14) in rubber covers uninstalled from the factory crash bars (Fig. 4 and 5
pt. 13).

QTighten all the piping. /

M=

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

13
h

M=

www.heed.com.pl




Instrukcja montazu gmoli dla / Crash bars installation instruction for

KTM 1290 Super Adventure

Ry /P8

www.heed.com.pl




